Formulas

	Perimeter                                                                 Surface Area
square P = 4s

rectangle P = 2l + 2w or P = 2( l + w)                                      cube S = 6s2
                                                                           cylinder (lateral) S = 2
Circumference                                                                  cylinder (total) S = 2[image: image1.png]


rh +  2[image: image2.png]



circle C = 2[image: image3.png]
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d                                                      cone (lateral)  S =  [image: image5.png]
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                                                                                           cone (total) S = [image: image6.png]
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Area                                                                                   sphere S = 4[image: image8.png]
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square  A = s2                                                                       ellipse 0.7854dD                                              

rectangle A = lw or A = bh                         

parallelogram A = bh                                                            Miscellaneous 

kite A = [image: image9.png]
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triangle A = [image: image12.png]


                                                                    quadratic formula x = [image: image13.png]—bEb? —dac
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trapezoid A= [image: image14.png][N



                                                          Pythagorean Theorem a2 + b2 = c2
circle A = [image: image15.png]
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Regular Polygon A = [image: image16.png]


 or A = [image: image17.png]
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Volume                                                                              slope m = [image: image19.png]rise
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prism V = Bh where B is the area of the base                           slope-intercept form y = mx + b

rectangular prism V = lwh                                                       point-slope form m(x2 – x1) = y2 – y1
cylinder V = [image: image21.png]


r2h                                                                  standard form Ax + By = C

cube V = s3
pyramid or cone  V = [image: image22.png]


 where B is the area of the base  Speed = [image: image23.png]distance
time
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sphere V =[image: image25.png]


                                                                   Force = mass x acceleration     F = ma                                                          

 

Density = [image: image26.png]mass.
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             P = [image: image29.png]L4




 

Work = force x distance   W = Fd                                        Momentum = mass x velocity  p = mv   

Acceleration  =  final velocity-initial velocity /change in time             a = [image: image30.png]



 

Heat gained or lost by water = mass in grams x change in temperature x specific heat  

Q = (m)([image: image31.png]
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% efficiency = [image: image32.png]work output
work input



 x 100 % =[image: image33.png]


 x 100       Energy = mass x (speed of light)2  E = mc2 

 

Kinetic energy = [image: image34.png]


 ( mass x velocity2)  KE = [image: image35.png]


mv2     Current = [image: image36.png]voltage
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Gravitational potential energy =  mass x acceleration due to gravity x height GPE = mgh

 

Electrical energy = power x time   E = Pt


 

 

 

 

 

 

 
